4.3 Riemann sums.notebook

Riemann Sums
and
Definite Integrals

Definite Integral
fis defined on [a, b] and the limit below exists

limy. /(e = [ e

a is the lower limit of integration

b is the upper limit of integration

c is any point on the i™ subinterval
AX; is the width of the i subinterval

A definite integral is a number. (+, -, 0)
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lim>. /(c)Ar Ac=2"2

n—>x =1 n
|A[[is the length of the largest subinterval in [a,b].
”A” is the norm of [a,b].

If subintervals are all of equal length, the
partition is regular and [A] = Ax= b-a
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You can also use a

3 ,
2 geometric formula to help
_[ X" dx find the area under the |
" curve if your regionisa | |
limD. f(c)Ax known geometry shape.
n—w j=1
. )
] L (5-x)dx )
f " y Definitions
X

= area of trapezoid -

-+ /) 1.J': F(x)dx=0

2.[ fde =~ f(x)dx

ex [[(5-x)dv=-[ (5-x)dx
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Properties

L] f@de= [ S0 + [ Fxds
2[ i r)dx =k f(x)x

3 [f@+ g = f(dr+ [ glx)ds

[ =4
Given: 0

[ =1

Find (a ff(x)dx =
Find (b) [ /(x)dx =

Find (c j F(x)dx =

Find (d) [ -5/()dx=

Try This

( x> +4x —3)dx
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